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60 ~697% 752 805 766
10mLLE 986 1,028 1,009
Ik |BEEX 309 291 282
RERES 95 136 119
=HEE-FREE 207 198 240
ERERE 885 885 1,025
EREFERE 390 432 440
FELZFDI 171 195 119
BEFHRER) 340 416 403
607% LA _E ) S 716 686 697
R R O EYEBBL 402 374 431
KIFDH 757 765 718
21 1,143 1,212 1,437
KT 461 469 548
Z D 410 393 184
T 1A 428 442 450
2A 1,232 1,227 1,270
3A 637 646 682
AALE 160 168 159
FELIFLVELY 710 725 802
JEEEH|I0ERE 101 95 100
10~205E R 125 131 145
205ELLE 2,961 2,994 3,174
SR R T i i 938 966 1,011
12 B T 15 iR L 1,014 993 1, 080
BRI IREE 800 837 833
Bk A iEiR L E 575 591 625
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